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When people invest, they usually do not simply deposit one Iump sum and wait several [l pm .
years for it to earn interest. Most investors make regular payments,,often deducted
directly from their pay checks. These type of investment are called annuities.
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/ Annmty ag\s:h?of money pald as a series of regular payments - jnterest

Ordinary annuity — an annuity for which the payments are made at the énd of each
payment period S—_ —
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Simple Annuity — an annity for which the compounding and payment periods are the
same A
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The amount, 4, of the annuity can be determined by adding the amounts of all'the
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The formula for this sum is:
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A is the total amount at the time of the last payment (Also seen as Future Value)
R represents the regular payment in dollars
i represents the interest rate per compounding period, expressed as a decimal

n represents the number of compounding periods
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Example 1.
At thegrld/mf every n month, Katherine deposits $1OO in an account that pays 6% per
year, compounded{monthly She does this for3 years,)
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b) Determine the amount in the account after 3 years. -
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c) How much interest will the annuity have earned?
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Example2 € {poo
Hannah needs $4880-for university tuition when she graduates in 2 years. She plans to
make deposits into an account that earns 6.5% per year, compounded bi-weekly.

a) Draw atime line to represent this annwtyf,/ 2 yeurs X 26 = K2 PELiD
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b) How much should she deposit bi-weekly?
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Example 3 Vary the Conditions of an Annuity o = 508 !

Amir plans to invest $2600 each year at 6% per year, compounded annually, for the
next 15 years. Compare the effects on the final amount if the deposits are made and
compounding periods are . - = @ggﬁ
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Do this on a separate sheet of paper if there is not enough room.
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Conclusions:

Homework: pg. 453 #2-5, 8-10 Extension #15



